PERL EDUCATION

MATHEMATICS
MCQ WORKSHEET-I
NUMBER SYSTEM CLASS- 9TH

DAILY PRACTICE PAPER

1. Rational number 4% is equal to:

(@ 0.75 (b)0.12 (c) 0.012 (d) 0.075
2. A rational number between 3 and 4 is:
3 4 7 7
a) — b) — c) — d) —
@ O © - @
] 3 4 .
3. A rational number between E and E is:
7 7 3 4
a) — b) — c) — d) —
@z O  ©g @ 7
. 1 g
4. A rational number between B and 7 is:
2 5 4 1
a) — b) — c) — d) =
(a) 3 (b) 3 (©) 2 (d) G

5. Which one of the following is not a rational number:

@2 (b0 (c) V4 (d) V-16

6. Which one of the following is an irrational number:

@) V4 (b) 38 (©) V100  (d) —+/0.64

7. Decimal representation of é IS :

@02 (b)05 (c) 0.02 (d) 0.002

8. 3% in decimal form is;

(@335 (b)3375  (c)33.75  (d)3375

9. % in the decimal form is;

(a) 0.83 (b) 0.833 (c) 0.63 (d) 0.633

10. Decimal representation of rational number % Is:

(a) 0296 (b) 0.296  (c) 0.296 (d) 0.296
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D P P NUMBER SYSTEM CLASS- 9TH

DAILY PRACTICE PAPER

1. Which one of the following is a rational number:

@~3 ()2 (c) 0 (d) V5

2. 0.6666 in g formis:
6 2 3 b

(a) 99 (b) 3 (©) 5 (d) 56
3. 4% in decimal form is:

(a) 4.125 (b) 415 (c) 4.15 (d) 0.415
4. The value of (3+\/§)(3—\@) is:

(@0 (b) 6 (c)9 (d) 3

5. The value of (\/§+\/§)2i32
@) 7+2v5 (b) 1+5v2  (c) 7+2410 (d) 7-2+10

6. The value of (ﬁﬂ@)(ﬁ—ﬁ) is:

@10 (b7 ()3 (d) V3
7. The value of (3+\@)(2+ﬁ) is:

(a)6+3\/§+2\/§+\/6

(b)3+3\/§+3\/§+6

(©)6-3v2-243-6
(d)6—-3v2+243-+/6

8. The value of (Jﬁﬂﬁ)(ﬂ—ﬁ) is:

@4  (b)-4 ©) 18 (d) — 18
9. The value of (5+\@)(5—£) is :
@0  (b)25 (c) 20 (d) - 20

10. On rationalizing the denominator of % we get
N 7
@7 O  ©@— @7
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MATHEMATICS
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D P P NUMBER SYSTEM CLASS- 9TH

DAILY PRACTICE PAPER

1. On rationalizing the denominator of we get

1
N

J7 +6 J7-6
@7 OFop @V6 @746

2. On rationalizing the denominator of , We get

il
J5++/2

@V5-v2 () V2-v5 (0 «/3;/5 @ \/E;@

1
J7-2
ﬁ3+2 @ ﬁg—z

. . . 1
4. On rationalizing the denominator of — , we get

72
Ok ©F
1

2+\/§’
(@) 2-+/3 (b) V3-2  (c) 2++/3 (d) —v3-2

4.
N3
1
(@) NeEN/] (0) V3+v2 () V2-+3 (d) —v3-+2

7. The value of 642 is:
(a) 8 (b) 4 () 16 (d) 32

3. On rationalizing the denominator of , We get

(@ V7-2 (0) V7 +2—(c)

() 2 (b) 2

5. On rationalizing the denominator of

we get

6. On rationalizing the denominator of we get

1
8. The value of 325 is:
(a) 16 (b) 160 (c) 2 (d) 18

9. The value of (125);is:
@5  (b)25 (c) 45 (d) 35

10. The value of 92 is:
@18  (b)27 ©-18  (d) 2—17
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1. Thevalue of 32%° is:
@2 (b4 (©) 16 (d) 14

2. The value of 16%* is:
(a) 4 (b) 12 () 8 (d) 48

-1

3. The value of 1253 is:
1

1 1 1
(@ 5 (b) o5 () 15 (d) 125

4. The value of 112 =11 is:
(a) 111/4 (b) 113/4 (C) 111/8 (d) 111/2

5. Thevalue of 6432 is:

1 1 1
(a) % (b) o (c) 512 (d) 512

2
6. The value of (125)3is:
@5  (b)25 (c) 45 (d) 35

7. The value of 25%% is:
@5  (b)25 (c) 125 (d) 625

8. The value of 1—11 in decimal form is:
(a) 0.099 (b) 0.909 (c) 0.09 (d) 0.009

9. Decimal expansion of a rational number is terminating if in its denominator there is:
(@2or5 (b)3or5 (c)9o0r11 (d)3or7

10. The exponent form of 37 is:
(a) 73 (b) 37 (C) 71/3 (d) 31/7
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1. Which of the following is true?
(a) Every whole number is a natural number (b) Every integer is a rational number
(c) Every rational number is an integer (d) Every integer is a whole number

2. For Positive real numbers a and b, which is not true?

(a) /ab =+/avb (b) (a++b)(a-b)=a’-b
©) \/%:% (d) (Va++b)(Va-vb)=a+b

3. Out of the following, the irrational number is
(@15 (b) 2.477 (c) 1.277 (d) =

4. To rationalize the denominator of ___ ,we multiply this by

Ja+b
1 1 Ja+b Ya=h
® o P O e | P B

5. The number of rational numbers between /3 and /5 is
(@ One (b) 3 (c) none (d) infinitely many

6. If we add two irrational numbers, the resulting number

(a) is always an irrational number (b) is always a rational number
(c) may be a rational or an irrational number (d) always an integer

7. The rationalizing factor of 7—2+/3 is
(@) 7-243 (b) 7+2/3 () 5+243 (d) 4+23

8. If %:0.142857, then ; equals

(a) 0428571 (b) 0571428  (c) 0857142 (d) 0.285718

9. The value of n for which +/n be a rational number is

@2 (b4 (c)3 (d)5
3J12
10. N equals

@% (b) V2 © 3 @%

11. (3+ﬁ)(3—ﬁ) equals
(a) 9-5v2-+/6 (b) 9-v6  (c) 3++2 (d) 9-3v2+33-6

PERL EDUCATION - 1st Floor, Shrinath Complex, Sahakar Nagar Chowk, Aurangabad MH - 431001
Contact: 0240-2950011, 8767256768



12. The arrangement of ~/2,~/5,+/3 in ascending order is
@ v2,¥3,45  (b) v2,45,43 (©) V5,43,42 (d) V3,v2,45

13.1f m and n are two natural numbers and m” = 32, then n™ is
(@)5* (b)5° (c) 5% (d) 5%

14.1f \J10 =3.162, then the value of L

J10
(a) 0.3162 (b) 3.162 (c) 31.62 (d) 316.2

6 5 X+2
15. If (Ej x(EJ :(E] , then the value of x is
4 9 3

@2 (b4 (c) -2 (d) 6
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